BLM 6.N.2.2: Am I Reasonable?
1. Rose read that in a certain country 35 000 000 people are living in cities and 47 000 000 are living in rural areas. She concluded that the total population is 82 000 000.             
2.  Jim said that big numbers are easy to calculate. 
839 000 000 – 604 000 00 must be 200 000 000.
3.  Penny’s laboratory has 305 containers of microscopic organisms. Each container has 199 000 030 organisms inside. Penny wrote in her notebook: “This laboratory has 
approximately 500 000 000 000 microscopic organisms.”
4. A company made $692 000 435 profit last year. The president divided the profit among the 49 shareholders. Each shareholder received $15 000 000.

